| Efficiency vs Dxy |
.05
S S N N T N T T
]

045 i b
o S A A
e A S A 0 S A
© Foo : : : : : : : :
[0 e e S A A S S A
0.025f i ﬁ ------- ——
002— ------- e
T e
L

0008
o+

Rat

3 S O O

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DOM_V000I_RO0000000I__Global
—e— DQM_V0001_R000000001__Global__mkFitNewDett_ RECO

_ mKFitoOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDett33__RECO

| Efficiency vs Dz |

0.2 —— DQM_V0001_R000000001__Global__mkFitNewDett04 RECO
N U. . T T .

T SRR SIS SIS T o —
> . :

3 f
FAbop 1 T I
O = H H .
.14 i R A |
o F : : :
0.2 Pl froeeeenees | R
S | T |
11| L | R
L R SRRt | KX S
0.04 [ | R s
: JLUREY
07 =l---+¢’*§#‘5+-+- ---------------------------
- 8 L
OJ..L»O 11 1 | IIII!IIII!IIII 11 1 1 11 1 |

10

2030
TP dz (cm)



	Contents
	Page 1


